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1+D+D*+D3 ] is 1 point

1) The number of states for rate R = % convolution code with G(D) = [1 v

3
4
8
None of the above
No, the answer is incorrect.
Score: 0
Accepted Answers:
4

2) State diagram of convolutional encoders are shown below. Which of the following represents 1 point
a catastrophic encoder ?
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Both of the above

None of the above

No, the answer is incorrect.
Score: 0

Accepted Answers:

0/00

1/00

3) Given arate R = - convolutional code, which realization will always result in minimal
encoder realization.

Controller canonical form realization
Observer canonical form realization
Both of the above

None of the above

No, the answer is incorrect.
Score: 0

Accepted Answers:
Controller canonical form realization

4) Equivalent systematic generator matrix for rate R = % convolution code with
1 1 1+D
G(D) = [

0o D 1+D*|°

1 0 1+D
0 1 1+D?

1+D
Lo =
1+D?
L
1o 1
0 1 14D

No, the answer is incorrect.
Score: 0

Accepted Answers:

1+D
1+D?
0 1 )

3)
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Equivalent systematic generator matrix of a rate R = % convolutional encoder with

1 1 1+D

0 D 14D can be realized using

GD) = [

Controller canonical form realizer
Observer canonical form realizer
Both of the above

Can not be realized
No, the answer is incorrect.
Score: 0

Accepted Answers:
Can not be realized

6) Y

This is an example of

Systematic feedback encoder
Non-systematic feedback encoder
Systematic feed forward encoder
Non-systematic feed forward encoder

No, the answer is incorrect.
Score: 0

Accepted Answers:
Non-systematic feedback encoder

7) Weight enumerating function (WEF) of a (2,1,2) convolutional code with
G(D) = [ 1 1+ D2] is given by

X3-x4+4x°
1-2X+Xx2-x*4

X34x4-x6
1-2X-X2-x*

X34X4-X°
1-2X-X24+Xx3
None of the above

No, the answer is incorrect.

Score: 0

Accepted Answers:
X3-x44x6

1-2X4+X2-Xx*

8) Input output weight enumeration function (IOWEF) of a (2,1,2) convolutional code with

G(D) = [ 1 1+ D2] is given by
X: weight of k input bits

Y': weight of n coded bits

Z ' label of each branch

XY3Z3+x2y*z44x2y°oz4
1+XYZ2+XYZ+X2Y4 73 -Xx2y273

XY3734X%y474—x2y0z*
1+XYZ2-XYZ+X2Y*Z3+X2Y273
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Xy373-X%y*744Xx%y0z*
1-XYZ2-XYZ-X2Y*Z3+Xx%Y?73
None of the above

No, the answer is incorrect.

Score: 0

Accepted Answers:
XY373-X2y*z44+x2y0z*

1-XYZ2-XYZ-X2Y*73+Xx%y?73

9) Decoding convolutional code using Viterbi algorithm will minimize 1 point

Bit error rate for convolutional codes
Frame error rate for convolutional codes
Both of the above

None of the above

No, the answer is incorrect.

Score: 0

Accepted Answers:

Frame error rate for convolutional codes

10BCJR algorithm will minimize 1 point

Bit error rate for convolutional codes
Frame error rate for convolutional codes
Both of the above

None of the above
No, the answer is incorrect.
Score: 0

Accepted Answers:
Bit error rate for convolutional codes

Previous Page End
© 2014 NPTEL - Privacy & Terms - Honor Code - FAQs - G+
A project of In association with
%. N PT E Mational Programme on ®
u Technology Enhanced Learming N AS S c o M
Funded by

Govermnment of India
Ministry of Human Resource Development

Powered by

Google

https://onlinecourses.nptel.ac.in/nocl16_ec04/unit?unit=22&assessment=27 4/4


https://onlinecourses.nptel.ac.in/noc16_ec04/unit?unit=22&lesson=26
https://onlinecourses.nptel.ac.in/noc16_ec04/course
http://nptel.iitm.ac.in/
http://www.nasscom.in/
http://mhrd.gov.in/
http://www.google.com/

